LECTURE NOTES: §2.2

1. Sketch the graph of an example of a function f that satisfies all of the given conditions.

(@ f(0)=2

(b) f(3) =1

(© lim () =1

(@ lim fz) =2
(© lim f(z)=4
() lim f(r)=o00

z——11

2. Sketch a graph f(z) such that lir% f(z) = oc.
z—

3. (a) Use a calculator and a table of values to determine the limit: lim xsec(wz/2).
r—1~

(b) Use mathematical reasoning to show that your answer in part (a) is correct.
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4. Without using a calculator, determine the (infinite) limit. Explain your reasoning.

Jz
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@l o3

(b) lim

z—3t T —

2—10z
li
(C) xlg)l‘*' r—3

(d) lim In(z —3)

r—37+

(e) Why didn’t we ask you to find lim In(z — 3)?

r—3~
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